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Convert these Cartesian coordinates to polar 
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Convert these polar coordinates to Cartesian 
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Try graphing the following on a graphic calculator and draw the result: 

 

1) 2sin cosr θ θ=   - bifolium 

2) (cos 1)r θ= −  - Cardioid 

3) sin tanr θ θ= - Cissoid of Diocles 

4)  
( )sin

r
θ

θ
= - Cochleioid (Oui-Ja board curve) 

5) csc 1r θ= +  - Conchoid of Nicomedes 

6) 
3 3

3sin cos

sin cos

θ θ
θ θ+

 - Folium of Descartes 

7) cos 2r θ= ±  - Lemniscate of Bernoulli, Two-leaved rose 

8) sin 2r θ=  

9) 
1

r

θ
= ± -Lituus 

10) sin 3r θ=  - Three leaved 

  


